STOCK CODE: SZ 300986

STEEL-FRAMED
TIMBER FORMWORK

HIEARIR




CONTENTS

ABOUT GETO

COMPANY PROFILE

DEVELOPMENT HISTORY
PRODUCTION STRENGTH

¥ INDUSTRIAL DIGITIZATION

GETO INTELLIGENT MANUFACTURING
SELF-DEVELOPED R&D SOFTWARE
DIGITAL MANAGEMENT

INTEGRATED PRODUCT SOLUTIONS
WHOLE-CHAIN SERVICES
CERTIFICATIONS

PRODUCT INTRODUCTION

¥ GETO-64 HEAVY-DUTY FORMWORK SYETEM
FORMWORK SYSTEM

PRODUCT ADVANTAGES

APPLICATION

¥ GETO-64 LIGHTWEIGHT FORMWORK SYETEM
FORMWORK SYSTEM

PRODUCT ADVANTAGES

CONSTRUCTION WORKFLOW

TYPICAL PROJECTS

¥ GETO-64 HEAVY-DUTY FORMWORK SYETEM
HOUSINGS & BUILDINGS

PURIFICATION PLANT

POWER PLANT INDUSTRIAL BUILDINGS
INDUSTRIAL PLANTS

DAMS & DOCKS

RAILWAYS & TUNNELS

CANALS & PORTS

PIPE GALLERY TROLLEY

TRANSPORTATION HUBS AND SUBWAYS

¥ GETO-64 LIGHTWEIGHT FORMWORK SYETEM
INTEGRATED HOUSING BUILDINGS

01

P6
P8
P10
P11
P11
P12
P13
P14
P15
P16

02

P22
P22
P36
P39
P51
P51
P60
P62

03

P74
P74
P76
P77
P78
P79
P80
P81
P82
P83
P84
P84

BR

Ak

AR

Y430

£FKA

Pl Ty
BREMLHNIS
BERRR MY
HFER

— A AR 5
EHEFRRS
BRINIE

iR

Eh -64 BRURIRAR v
BRI
P
P B
Eh -64 RENRIRIAR v
BRI
P
R

il=E 3t

EhF -64 ERRIRER ¥
FEEMER

BEETE
BT B

T BB

RINFARD L

BRERFIRRIE

iTAFEO

EMEE

B AR 5k

EhF -64 BENRIRIAR v
BANEE



ABOUT GETO
Ak TER




Table of Contents English Title
BRETHIRE

COMPANY PROFILE
dk7TeR

GETO is mainly engaged in green construction
and new energy.

Green prefabricated building products include
aluminium formwork, steel formwork, steel-
framed timber formwork, climbing systems,
fair-faced concrete formwork, infrastructure
formwork and scaffolding products;
prefabricated steel structures, assembly
precast concrete components, and modular
building (including PC and steel structures).
The main focus of new energy is investment,
construction, and operation of "Photovoltaics,
Storage, and Charging" projects, while
providing the "Green Energy Future Living"
one-stop residential energy solution.

In 2021, GETO was listed on the ChiNext board
of the Shenzhen Stock Exchange in China. We
have established 12 production bases around
the world and registered 32 international
trademarks in different countries and regions.

SHERTEREEE VR RN ERR AR
PRo
FERENERNEE: B8, MR, WEANE,
TeATURER, BKERLIRE, REREIELE,;
ERIBANED, BEXERAPC, RR
B2 ( 8% PC. WEWMAE )o
MEEREE I S 68, 8" B KRE. #ig.
i, “RERKE" —IEARERFERG =,
TR T 2021 F£7E A REIIRIER £
™, BREIETESIKIRIL 12 KEM~EM, 7232
PMERMMEEM T “GETO®” EPrists, =
milARSS B R 23K,

P-6



About GETO
01 pPwn

AN ANy
Noaes

DEVELOPMENT HISTORY
LRERhiE
® 2012
Achieved 1S09001, 1ISO14001, OHSAS18001
Certificate

ZR3K 1S09001, 1SO14001, OHSAS18001 TAIE

P-8

2015

GETO Malaysia
Established
OISR

7\
N\ J—
2011 2014
GETO Jiangxi First Overseas Order
Established F—MEIMTR
PN S D AVANE-E-S

2016

Achieved Singapore
BCA BAND-2
SRIRFTINIE BCA
BAND-2 iAIE

® 2016

GETO Singapore
Established
N3RS A 3L

2018

GETO Global
Management
Headquarters Set in
the Greater Bay Area
SHRLKEE S ERG
TFERAROLX

® 2018

Opened Malaysia
Factory
ORALI Fil

About GETO

2021

GETO Group Stock
Listed

in Shenzhen, China
ERSERERRZPIE
AR R

2022

AR

Obtained Singapore

CRS-TRO1

IR1F T HINIK CRS-

TRO1 FAGE

P-9



About GETO
AR

PRODUCTION STRENGTH

i Ay

ANNUAL PRODUCTION CAPACITY / =8k

5,000,000 nd

VR FACTORY TOUR

Xianning Factory
HALR T

P-10

Tongnan Factory
BEXER

Nilai Factory, Malaysia
SRAELFHRE=MN

Guangchang Factory |
IErE1

Huizhou Factory
[ZREIM

Dingxi Factory
HRER

Singapore Factory
N

Jiangmen Factory
[THII]

Guangchang Factory I
I &2

Weifang Factory
LRSS

Lingao Factory

LT

Saudi Arabia Factory
VS aEa =

INDUSTRIAL DIGITIZATION
Ak ERF

About GETO m
AR

GETO INTELLIGENT MANUFACTURING / &t HE ©

Intelligent manufacturing greatly enhances
efficiency, including independent R&D of the
existing formwork renovation production line,
formwork automation production line, robot
welding, and friction stir welding (FSW).

FRICTION STIR WELDING (FSW) / Hit¥EEZIR

BREWHIEMARA THE, SEEEMAR
WREEE =4k, BEIRBEHEFL. NBEANIZ
. BHERIRE (FSW) F

GETO AUTOMATIC PRODUCTION LINE / Bahfb 4 =4

ROBOT WELDING / #1288 AN JR4%

P-11




About GETO About GETO
P peeg 01
AN g AR

INDUSTRIAL DIGITIZATION DIGITAL MANAGEMENT / i &1F o
|5 &4 4

GT-MS INFORMATION MANAGEMENT SYSTEM

Integrates sales, design, supply chain, engineering, and finance into a unified data management
SELF-DEVELOPED SOFTWARE f o
[ BERMERE platform, enabling comprehensive data analysis and risk monitoring.

GETO-BIM AUTOMATIC MODULATION

SOFTWARE GT-MS ERHERRSA
This software enhances design efficiency RHE. =it HE, TR USSFSMUSHRRBENG—NEEEETS, SN2ENEE
and reduces errors, eliminating the need for P I ok SE R

factory preassembly and enabling faster on-
site installation.

“Tdkft BIMigit” &4t
Fmigit “FRET , BESR, AIRERIT
RALEFT, WHLEER,

GETO 3D MODEL MEMORY OPTIMIZATION
VISUALIZATION PLATFORM
The QR code on each panel helps locate

materials quickly, enabling workers to

assemble the formwork accurately on site.
MATERIAL CODING SCAN MANAGEMENT SYSTEM

3D BEATMTEL Utilizes PDA scanning for real-time warehouse material management based on BIM system

. outputs.
BRIER ER QRIBEBFREENM, LA
e TE I T AR S AR
RETSTE IR AR FEARAR ARBEEEER G
RIE “BIMigIt” RAHIHATI BOM, X¥HEHITH—HED, BT PDA REFIEG, SLILKE CEY)
ANENMNEE,

GETO-VR INSPECTION SOFTWARE
Enables remote virtual inspections, saving
customers the need for factory or on-site
acceptance.

“VR EHIEFZION R4t
SKILZAZ BN, AEFTEI M7
L GRESE-

P-12 P-13



About GETO
BA A

INTEGRATED PRODUCT
SOLUTIONS

—UETU AR R

GETO offers one-stop package solutions for its product and service offerings. Products in GETO's
one-stop package include the building formwork and scaffolding product series, prefabricated
building product series, fair-faced concrete project series, photovoltaic new energy, and
infrastructure formwork.

SHAEFRMRSREE-GNBRLRE, matE BRERREHFR~mRY. KEXER~
mAY BACERLTIERY. RAFER. BihLERRE.

P-14

About GETO
A NA

WHOLE-CHAIN SERVICES
EHERERS

GETO's whole-chain service offerings include on-site assistance, logistics, design and consultation,
monitoring and measuring services. Our service team is diverse, with staff from different
ethnicities and languages.

SHiRMEEFRS, SENGIENE. YR, KIS, mUMNERSS. FAIBIARSHER
Zlt, RATREFRBIMENIES.



About GETO
01 suna

CERTIFICATIONS
AR

GETO holds various certifications, ensuring compliance with international standards and

reinforcing its commitment to quality and innovation. =
bitSHFE

CERTIFICATE

SHFRBZTUANE, WRTTSEFRMTAE, FINsEx FEHN e,

1ot Bl o rcqmmrar 3 s BESAFTE Lot 3
Then carticate  valad W 1RQTG0I)

Band 2 Certificate Bizsafe Level 3 Certificate CIDB GT7 Certificate

IS0 14001 1S0 45001 IS0 9001 CIDB Reusable Formwork CCCl Product Carbon Footprint China Green Building Materials
System PPSi Verification Statement Certification Certificate
CCCI 7= @ik B %I 7= B FREZREEM T mRIMNEIER
p-17

P-16



PRODUCT INTRODUCTION

FaiTés

p-18




PRODUCTS INTRODUCTION
P

PRODUCTS INTRODUCTION

FaiTés

PRODUCTS INTRODUCTION m

PN
FandTtEn

GETO-64 HEAVY-DUTY & GETO-64 LIGHTWEIGHT FORMWORK SYSTEMS ©

GETO-64 HEAVY-DUTY FLAT FORMWORK SERIES
Suitable for large concrete structures, such as power plants,

. . . APPLICATION:
cooling tower docks, industrial plants, etc.

Itis an economical

formwork series for

i -64 ERTERIRZT
ERTAEBRRLLEN, GIGNARB . RAERkL. Tl EF.

walls and columns.

FmiERTF
EEREFEEIRAR
§|JO

GETO-64 LIGHTWEIGHT FLAT FORMWORK SERIES
Lightweight formwork suitable for one-piece pouring in high-rise
buildings.

i -64 BETEIRIRZT
ERTEERER—ANRRNERENR,

QUICK FORMWORK
With a patented locking system, the flat formwork can be locked
with just one hammer.

REEEURIR
RELTMMERS, A ICEFAREFEERBIE,

DIVERSE FORMWORK ACCESSORIES
Provide formwork support legs, work platforms, ladders, keels,
hooks, etc.

SRR E
RMERIRZBE. TETFE. BF. 28, mBF

P-20

O T4¥ -64 EE & E1F -64 BEURIREF R

p-21



PRODUCTS INTRODUCTION PRODUCTS INTRODUCTION
P FETa

GETO-64 HEAVY-DUTY %0 . . I I I I

FORMWORK SYSTEM 600 30.0 CFP6-1200+600
| 205 CFP6-900+600
L 139 FP6-600+600

S -64 EENRIRF R an

H 1200 10.0 FP6-400+600
FORMWORK SYSTEM / {EiR{&x % o ool 78 FP6-300+600
a0l 6.0 FP6-200+600
GETO-64 HEAVY-DUTY FLAT PANEL H = 600
. Kg Model B
Panel thickness: 64mm
Panel frame: Low carbon steel (surface treatment: baked paint)
Surface: Waterproof plywood surface with plastic layer attached 137.0 CFP6-1200+3000

GETO-64 HEAVY-DUTY UNDERLAY PANEL
93.0 CFP6-900+3000 . Model 4=
Panel thickness: 64mm

EiF -64 ERTEIER 4614212 gggigg%oaggo Surface treatment: baked paint
RIREE: 64mm 37.9 FP6-300+3000
IEIRAEZR . RN (RELIE: BR) 26.3 FP6-200+3000 =45 .64 ERTRIR KP6-1200+600
RE: FKREREEMERE EIRERE: 64mm KP6-900+600
. KP6-600+600
REIE: BR TR
110.0 CFP6-1200+2400 KP6-300+600
75.0 CFP6-900+2400 W 1 1200 900 600 400 300 200 KP6-200+600
50.0 CFP6-600+2400 H m m
35.6 FP6-400+2400 m D D
305 FP6-300+2400 H : 600
21.1 FP6-200+2400
0 P 19001500 GETO -6 HEAVY-DUTY INNER =l = = M =7 ke Model &S
! CORNER PANEL
57.0 CFP6-900+1800 . )
- T Panel thickness: 114mm s [T
27.0 FP6-400+1800 Steel panel
. 34.0 IPA6-(200+200)+2400
23 1 FP6-300+1800 Surface treatment: baked Y -
16.0 FP6-200+1800 paint 17.7 IPAG-(200+200)+1200
9.9 IPA6-(200+200)+600
E45 -64 ERIARIE
5.5 CFP6-1200+1200 EIREE: 114mm 38.0 IPAG-(200+150):3000
390 CFP6-900+1200 MER R
e FRaEIAN IPA6 Flexible Inner IP6 Fixed Inner 8.8 IPAB-(200+150)*600
15.8 FP6-300+1200 Corner Panel Corner Panel
1.0 FPE-200+1200 e EERRE

©H ;1800

pP-22 p-23



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY

FORMWORK SYSTEM
S - 64 ERRIRIF R

H 2400

H : 1800
H : 1200

H : 600

IPA6 Flexible Inner
Corner Panel

FRIERME

IP6 Fixed Inner
Corner Panel

EIER AR

34.1
21.6
21.1
14.3

39.9
32.2
24.6
16.5

8.9

36.3
29.3
224
15.0

80

32.8
26.5
20.1
13.5

72

Model 15

IPAB~(150+150)+3000
IPAB-(200+150)+2400
IPA6-(200+150)+1800
IPA6-(200+150)+1200
IPA6-(200+150)+600

IP6-(200+200)+3000
IP6-(200+200)+2400
IP6-(200+200)+1800
IP6-(200+200)+1200
IP6-(200+200)+600

IP6-(200+150)+3000
IP6-(200+150)+2400
IP6-(200+150)+1800
IP6-(200+150)+1200
IP6-(200+150)+600

IP6-(150+150)+3000
IP6-(200+150)+2400
IP6-(200+150)+1800
IP6-(200+150)+1200
IP6-(200+150)+600

150

PRODUCTS INTRODUCTION

RN

GETO-64 HEAVY-DUTY CURVED WALL HINGE PANEL

Panel thickness: 64mm
Steel panel

Surface treatment: baked paint

P-24

REVIE: B

T -64 ERIMAZEE S DURR
RIREE: 64mm

Kg Model E5
64
40
39.9 CHF6-150+3000
329 CHF6-150+2400
24.3 CHF6-150+1800
. 17.2 CHF6-150+1200
300
] 86 CHF6-150+600
600 — -
300 200
1100 |
600
600 600
| J 300 ]OO
400 B 400 «l
300 300 300
L i . 0
H : 3000 2400 1800 1200 600
GETO-64 HEAVY-DUTY 113 %
50 33 Kg Model E 5
FORMWORK LOCKING 1 [
75 E 75 E i
CLAMP [ L
Panel thickness: 114mm {:‘%p . { 0.78 MRC6-538
141
Steel panel v 0.75 MUC6-33
Surface treatment: baked "MRC6-538" "MUC6-33"
. Standard Formwork Euro-form
palnt Locking Clamp Locking Clamp 2.18 MCC6-1BA
R A0 RRATAAR 130

T4 -64 ERMRIR BN
RIREE: 114mm
MER

REIE: B3R

155—‘ rHOj

Tt

"MCC6-1BA"
Formwork intemnal Comer
Locking Clamp
EARBAA BN

p-25



PRODUCTS INTRODUCTION

2r oy
PR

GETO-64 HEAVY-DUTY

FORMWORK SYSTEM
S - 64 ERRIREF R

395
50 =
| R \ | \ Kg Model #5
12{ % | 125[ |
wd 307 MBC6-400
e
- L 7o | | 423 MBC6-650
"MBC12-400" "MBC12-650" 3.09 MFC6-150SB
Formwork Heavy-duty Locking Clamp Formwork Heavy-duty Locking Clamp
IRIRERS1H0 IRIRER S B0
e 478 MFC6-150LB

50~200
S |
1 i3 N

210

"MFC12-150SB"
Adjustable Locking Clamp for
Formwork Spacing

n

”MFC671-5OLB"
Adjustable Locking Clamp for
Formwork Spacing

BR8] 2B ] A BN 1R1R1B]EE RN
PANEL TIE ROD (ANCHORING)
BOLT FIXING METHOD
SR (SEE) BREEA N
(3
=)
IR

Standard tie bolt fitting
method
TR EE ST

P-26

]
5.4

Tie-bolt fixing method with o
supplementary formwork AﬂChOIEOAIt fl:gﬂg method
A TR BRI HLIR IR EE A T HitEES

Wall-end tie bolt fitting
method
imx e EE S

(@ Panel tie rod main bolt

@ Panel tie bolt main bolt (Type B)
(3 Wing nut

@ Ribbed cushion

® Wedge lock

® Transition washer

@ Cone nut

® Anchor bolt clamp

©® Wall-end tie bolt cup washer
(9 Wall-end tie bolt top hook
@ Intermediate rod

@ Sleeve

PRODUCTS INTRODUCTION m
N a

@ BRI ERE E AT
@ Bt aRte T (b )
[OF5:7 353

@ EREAR

6373}

© TERE

(OF::5i7: 35

[OF::7: 3521

© sEimxHAR e A R
0 SFimXH R TR

O FRa]gRtF

L EE

GETO-64 HEAVY-DUTY
TYPE PANEL TIE BOLT MAIN
COMPONENTS

Surface treatment:
galvanized

15 -64 ERIBRM IR 12
FEE
RERIE: BT

Tr20 thread JW58 thread]

"HT5/8-MB64"
Panel tie bolt
RARIT iR

A
Tr20 threadJ W5/8 threadJ
"HT5/8-MB 190B"
Panel tie bolt
AR IR 1S

290

I L
Tr20 thread— W5/8 IhreadJ
"HT5/8-MB290B"

Panel tie bolt
AR IR A%

—
«| edOpo

| B

"T20-DN2"
Wing nut
IR ARE

70 50

= N
2\

Q=

"T20-P1212"
Reinforcing plate
AR

Kg Model =

0.58 HT5/8-MB64
0.58 HT5/8-MB190B

0.55 HT5/8-MB290B

0.42 T20-DN2
1.05 T20-P1212

0.30 T20-W1

0.35 CN5/8-60
0.19 T20-AP64
0.58 T20-EP1

0.24 T20-EH64

p-27



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY

FORMWORK SYSTEM
S - 64 ERRIRIF R

@55 60 54

60 93
r1 Kg Model &S
G 80 [@ 47[ @ 80 [ E O
W5/8 thread 25 =] —_
"CN5/8-60" "T20- AP64" "T20-W1" "T20-EP1"
Cone nut Anchor bolt clamp Wedge lock Wall-end tie bolt cup
SEIRE fteRE R washer
SRS AR R
1.35 T20-PR200
68 60
300 30 200 30 2.06 T20-PR300
o ———1 0 — 10
% % 135[ — ] 135[ -) ]
"T20-EH64" "T20-PR200" "T20-PR300"
Wall-end tie bolt top hook Transition washer Transition washer
FERX RIS TR popiErdoy TR
GETO-64 HEAVY-DUTY -
Kg Model B
TYPE MIDDLE ROD AND
COMPONENTS
' & 0.15 T15-E150
T4 -64 ERENRFT R 5B 021 T15-E200
0.27 T15-E250
ﬁ: 0.33 T15-E300
0.39 T15-E340
0.45 T15-E400
25 L (= - 71) 25 ’7‘50 0.57 T15-E500
. L [F_
-]:r 50
W5/8" WS/AJ
"T15E" "T15-L150*70
Middle rod Anchor bolt 0.23 T15-L150+70
R e
3000 30 27 —
‘ | 0.52 PT28-3000
‘ ‘ @25[@ 0.01 THC35-1
080T HWHE @35 0005 THC25-1
"PT28-3000" "THC35-1" "CHC25-1"
Sleeve Atype plug B type plug
EE A BUET B BT

p-28

PANEL SUPPORT LEGS
Main body surface: baked paint
Screw, upper and lower support seat parts: galvanized

BRIz HE
FRRE: R
211, L FXIEREER: BREE

(™ Main support

@ Auxiliary support
(3 Support base

@ Upper support seat

q .
@ DOFZ#E
d QBB
QO IEREE
(ON 3= 1:3
v | q
————
5) ]
g
—————
D
D)
@ @
PO 3
169 129 110
1

_ ﬁ o gl
= k=4 ﬁi 129
o
80 @ "MS-TP4A"
Upper support base

"MS-TP3A" b
380 100
\ \
111
"MS-TP2A" "MS-TPSA" "MS-TPEA"

Ke

1.0
13.9
16.7
35.0
41.4
55.2
61.6
70.0
76.4
82.7
94.6
101.0
107.4

4.47
5.04
6.17
7.30
9.58

7.05
6.32

14.3
20.7
27.0

26.1
50.8

2.49

2.77
1.38
1.90
1.63
133

PRODUCTS INTRODUCTION

=z O A7
A m

Model &=

S6040-215/315A
S6040-315/415A
S6040-415/515A
S6040-515/615A
S6040-615/715A
S6040-715/815A
S6040-815/915A
S6040-915/1015A
S6040-1015/1115A
S6040-1115/1215A
S6040-1215/1315A
S6040-1315/1415A

1 1

1
1
1
S6040-1415/1515A

1
5/1
5/1
5/1
51

[S2 I GO I )

2
3
4

$4830-95/120A

S4830-120/145A
S4830-170/195A
S4830-220/245A
$4830-320/345A

ST6040-R1200BA
ST6040-L1200BA

SP89-2000
SP89-3000
SP89-4000

SP114-3000
SP114-6000

S-PB1616A

MS-TP2A
MS-TP3A
MS-TP4A
MS-TPSA
MS-TP6A

P-29



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

t; Model 2 MinS/h Ll MaxBALL L2
‘ | | ‘ S4830-95/120A 950 1200 817
. S4830-120/145A 1200 1450 1067
@48 Steel pipe W& 130
e PP e S4830-170/195A 1700 1950 1567
Hexagon bolt and nut 24T S4830-220/245A 2200 2450 2067
VAV=ELZYETILE S$4830-320/345A 3200 3450 3067
Auxiliary support
B
L Model 22 Min /MLl MaxBALL L2
L2
‘ T ] ‘ S6040-215/315A 2150 3150 2055
* S6040-315/415A 3150 4150 3055
@ 48 Steel pipe NE Tr30 S6040-415/515A 4150 5150 4055
"A" type main support Screw jack
g i
Ll Model 25 Min 8/\L1 Max@ALL L2
‘ 1026 L2 1026 ‘
[ [ [ | S6040-515/615A 5150 6150 3000
—Wﬂ-—- S6040-615715A 6150 7150 4000
"ST6040-L1020BA" "SPgy" "ST6040-R1020BA"
Movable end Intermediate support Movable end
JEBDS FRERRIE JETNIR
. ) 16-M12*30
B type mainsupport  Hexagon bolt & nut
BAELH#E NABR LIRS
L1
‘ 1026 L3 L2 1026
[
“smoz&ofuozoa/x”J "spag" ] 'SP114" "ST6040-R1020BA"
Movable end Intermediate support Intermediate support Movable end
e PEIIE eI i
v . 24-M12°30 Model 25  Min&@/\L1 Max®|ALL L2 L3
C" type main support Hexagon bolt & nut
CRTZiE NAEE & IRG S6040-715/815A 5150 6150 3000 2000
S6040-815/915A 6150 7150 3000 3000
Li
1026 3 2 4 1026

"ST6040-L1020BA"

Movable end Intermediate support Intermediate support
JETh RE Sz % rhEp i
36-M12*30 —
Hexagon bolt & nut Model S
D" type mai s $6040-915/1015A
e $6040-1015/1115A

S6040-1115/1215A
S6040-1215/1315A
S6040-1315/1415A
S6040-1415/1515A

P-30

"spag") "SP114"

”SP89”J

Intermediate support

PR E

Min &/ L1 Max &K L1

9150 10150
10150 11150
11150 12150
12150 13150
13150 14150
14150 15150

L2

3000
3000
3000
6000
6000
6000

"ST6040-R1020BA"
Movable end
BRI

L3

2000
2000
3000
2000
2000
3000

L4

2000
3000
3000
2000
3000
3000

OPERATING PLATFORM
Main body: baked paint
Bolts: surface galvanized

1#EFa
FROER
1212 REEHF

@ "SW-5"Operating platform

@ "MBD-75120A" Operating platform
support componen

® "MBD-750BA" Operating platform
support component

@ "MBD-710A" Operating platform support
component

® "GP-3660A" Guardrail component
® "GP-3840A"Guardrail component
@ "GP-5940A"Guardrail component
® "HP-3340A"Operating platform
suspension component

® "HP-4240A" Operating platform
suspension component

@ 42 Guardrail steel pipe

@ "SW-5" 12 F &

@ "MBD-75120A" #&EF & A K
(3 "MBD-750BA" {2 {FF A A M
@ "MBD-T10A" 12EF & 124A 4
(5 "GP-3660A" $PH24A

® "GP-3840A" $PH2 A

@ "GP-5940A" $PH24A 1

® "HP-3340A" R1EF & BHEAH

© "HP-4240A" 1&1EF & BHEHAMN

© p42 PI=ME

PRODUCTS INTRODUCTION m

FETa

750 750
-3 q T
-t 9 1110
p q
[7
q
£Iig — 2100
q
4200 -
q
Fti
q 2100
) b | q
2400~ 3550 e -
d _ d
= -
@
D e
. i q¢ 2100 a 2100
— L 9 g
3600~ 4150
S dq
— =
®
I 2100
5o 180 120
: L — q
=i 1 :
HPA6-1 —
Supporting top components
Saptiits
[ 1170 — [ 1470 —— 3570
500 [
SW5-500*1200 SW5-500*1500 SW5-500*3600
‘ 1770 | ‘ 2370 | I 2070
SW5-500*1800 SW5-500"2400 SW5-500*2100
3570
I 2970 | [ 1000 700

500

SW5-500*3000
2370

1400 700

SW5- 500*2400DA
With movable door
HEm]

=

Including 2-M12-60 bolts and nuts &
2-M12*40*90 U bolts with nuts for ladder
installation

B4 2-M12-60 1212 TR & 2-M12*40"90 U FY
BIRESRTHTLE

SW5-500*3600DA
With movable door
A

p-31



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

750
T Kg Model B S
28.4 SW5-500+3600
@3—(4 24.1 SW5-500+3000
145 —— 91— 19.2 SW5-500+2400
e . d bt 17.1 SW5-500+2100
1 | I
| 380 14.9 SW5-500+1800
=2 b)s2 o O 5.
L )2 12.5 SW5-500+1500
MBD- 75120BA MBD-R(L )75120A MBD-R(L )75120A 10.0 SW5-500+1200
For use in building corner For use in building corner i
ATFRAYAE ATRANEEH 34.3 SW5-500+3600DA
25.1 SW5-500+2400DA
8.44 MBD-75120BA
% v % 9.73 MBD-R75120A
L e —— = et
120[ 120]: :Fl:{[ 9.73 MBD-L75120A
; a0l || N \ 5.24 MBD-750BA
©+2 (b)+4 ©=2 (D+4 a2 ©%2 (b)*2
MBD- 710A MBD-R(L)710A MBD- 75120BA 6.53 MBD-R750A
For use in building corner 6.53 MBD-L750A
R 3.82 MBD-710A
4.89 MBD-R710A
\ 3340 4.89 MBD-L710A
8.27 HP-3440A
W\” HP-3440A
10.3 HP-4240A
9.34 GP-3660A
‘ 4240 10.5 GP-3840A
= 15.8 GP-5940A
2 HP-42400perating platform suspension componen _
BIErasEst i PR
3660 (® M14*90 Hexagon bolt and nut
= :} S o S = @ M12*60 Bolt and nut
@6 (3 M8*80*155 U bolt, plate and nut
GP-3660A @ W3/8*60*120 Ubolt and wing nut
180 5 *Q() -~ o
1 3840 @ M14%90 AR RI2 IR E
aa o o Fa a a ray 2 M12*60 1212 FNIR
'T T (3 M8*80*155 U 1842, EIRFIIRE
®)+2 @-6 @ W3/8*60*120 U BLZie AT 2
GP-3840A
‘1 80‘ 5940
v 0 0 0 0 0 0 0 0
LFZ ‘EAg

pP-32

GP-5940A0perating platform guardrail components
BREFRIPZAN

KEELS AND KEEL 1190
ACCESSORIES 129
Keels: baked paint BFP8-1200
Accessories: galvanized

L8

‘ 1490

BFP8-1500

yA-gipA= e
mE R
Fof: EB3EET

1790

BFP8-1800

N
©
S

BFP8-2100

2390

BFP8-2400

2690 ‘

BFP8-2700

2990 ‘

BFP8-3000

3290 ‘

BFP8-3300

‘ 3590 |

BFP8-3600
50
860 660
\ | \ | 11 G@
[fooococooacaoaoaaoaon] DO0OO00O0D0O0DO00D00D0D0
1,S)O[lﬂliliﬂliﬂliﬂﬂlIﬂlIﬂﬂlIﬂlIl lnnununuunununl
BFJ-860 BFJ-660 SH-M12*30
Keel connector Keel connector Connecting bolt
T BEREE PASPES JESES Y ES
600 ) )
@ Plate OER
@ Tie rod @ FFhrigte
3 Wing bolt [©F 15733

@ Rotating washer @ pERERE
® Boltand nut ® Biefiag
BOT-600A
Corner tie bolt components
PR RIS AE

@ 2LS-60*60*6
2 "Tr30*400"Curvature adjustment screw
3 8-"M12*30” Hexagon bolts and nuts

(1) 2LS-60*60*6
® @ "Tr30*400" BHRETITSIRHF
BR-HA50A @8-"M12*30" AMIBIRTES

Keel hinge connector
B TUEEAN

Kg

8.9
10.8
13.1
15.3
17.6
19.7
22.0
24.2
26.5

4.1
5.4

0.88
0.05

0.48
0.63
0.49
0.72

5.27
8.55

0.23
0.38
0.27

0.21
0.17
0.13
0.10
0.12
0.15
0.20
0.23

1.88
0.72
0.04

PRODUCTS INTRODUCTION

RN

Model &=

BFP8-1200
BFP8-1500
BFP8-1800
BFP8-2100
BFP8-2400
BFP8-2700
BFP8-3000
BFP8-3300
BFP8-3600

BFJ-860
BFJ-660

BF8-J1A
SH-M12+30

BFP8-F3BA
BFP8-F4A
P50-F3BA
P50-F4A

BOT-600A
BFJ-H450A

BF8-Jia
BF-Jib
BF8-Jic

BF8-F3Bb
P50-F3Bb
T1/2-B150
T1/2-B120
T1/2-DN1
BF-F1a
P50-F1a
LP14-185

BOT-P1
T15-A600
BOT-Wi1

p-33



PRODUCTS INTRODUCTION

2r oy
PR

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

120
@ L-bolt L @ Bligte Y I W @ Bolt [OF -4
@ Wing nut @ B2 165 15 @Wingnut @ IR E
@ Plate @ [ER @ Plate @ FER
@ Hexagon bolts [OFav::] 35 J @ Lock pin @ 5
(08"
P50-F3BA P50-F4A
50*50 Steel pipe fixing 50*50 Steel pipe fixing
bolt components50*50 bolt components50*50
MEE T BeA MEEEReAMT
@ L-bolt L @ L Bligig
@ Wing nut [BF:5:7: 11 @ B(_)lt ‘L’ ?gﬁ/
100 @ 3 Plate OEE 2 Wing nut 2 IR AR
@ Hex nut @ NBEF @ Plate ©ER
@ Lock pin @ $igH
BFP8-F3BA BFP8-F4A
Keel fixing bolt Keel fixing bolt
components components
B EERRAN TBEEREAT
LADDER & LADDER ACCESSORIES y Model B2
. oae =
Ladder: baked paint . , :
Accessories: galvanized [ 4.83 LD40-400+1200
" 7.33 LD40-400+1800
— i 9.76 . D40-400+2400
BF & BFECH ’ y
N 122 LD40-400+3000
BT R "
. i e 1.05 LD40-F1A
Rofi: FRIREF B i : 1.32 LD40-F64A
I 0.72 LD40-J1A
o 3000
— T — 201 FS610-3000
B ; 200 | |- 2.23 FS615-3000
1 800 3.74 FS650-3000
1200 | | | | | | 1.44 CS620-3000
¥ N I I 2.01 CS630-3000
: i ¥ Cl 2.70 CH-1A
L 2 L ¢ L g L ; 5.98 CH-2A
LD40-400*3000 L.D40-400*2400 LD40-400*1800 LD40-400*1200
L 103 CP6-SC200A
adder
¥

P-34

LD40-F64A
Ladder fixing component
T FEEAF

74
&
184 ®
3
LD40-F1A
Ladder fixing component
BFEEANF

260
o e

LD40-J1A
Ladder connecting
component

BFERAN

CP6 -SC200A
Column formwork roller component
Used For GETO-64 Heavy-Duty Type

@ Ladder assembly component
@ Boltand nut

(@ Ladder assembly support
(2 Hexagon bolt and nut
(3 Boltand nut

(@ Ladder assembly component
@ Bolt and nut

PRODUCTS INTRODUCTION m

=z O A7
A

O wFREAN
@ B1eHRE 3000
64
ou 151 150

FS610 FS615 FS650
GETO-64 Heavy-Duty Supplementary Panel

@ BFRRLR EIF -64 BRI TTIEMR
@ R ABeNEs
@ BefRg
20 30
O BFRECAMN 64 Ii 64
@ 121efizsg 20 301 )
CS620 Cs630

GETO-64 Heavy-Duty Corner Correction
T -64 ERAEEBIER

CH-1A
Hook
B
CH-2A - . .
Hook (M Main Component @ EEpH
B4 @ Accessories @ Wt
o -~ 3 Hexagon boltand nut @ <A EZES
() Main Component @ E&
@ Accessories @ Wt

ERARR A
BT EH 64 BE
(@ Roller cantilever component () R BEAM
@ Wheel @ ¥R

(3 Hexagon bolt and nut @ 7RI HRE

pP-35



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

PRODUCT ADVANTAGES / =amfi%

FASTER WORK EFFICIENCY: The steel-
framed formwork has high overall rigidity, so
it can have a larger spacing between screws,
reducing the number of screws, reducing
labor costs, and saving assembly time.

EROTERE: MERRBENES, Bikq
B EABETEEE, MR ETSE, R
FHENAIAAS, TIE IR,

QUICK ASSEMBLY AND DISASSEMBLY: Using
a small number of panel specifications, it can
be placed vertically or horizontally, connected
quickly with fast fixtures, and can be quickly
assembled into large-area panels of any size
with just one hammer for connection and
disassembly operations.

RFDFESIFED: SR BIRRAE, ATEm.
AEERE, EAREREER, AR A5
ERRTHRERER, NFE—IEEFEIETEM
ERRMIRFRIRF

SEAMLESS CONNECTION AND EFFICIENT
HOISTING: Seamless connection with
straightening braces, walers, and platform
brackets, efficient overall hoisting, and higher
formwork erection efficiency.

BNEGRE: SHERE. 515, TaXREX
iR, BUEBR, UKESK.

P-36

MODULAR DESIGN: Modular design size,
perfect adaptation to any wall surface, easy to
plan packaging and transportation, and the
molded surface has a neat seam shape.

BRigit: BEEIRITRY, TRENERE
H, ZTAXeENzRE, REmAE SEFTHH
LERIR.

PRODUCTS INTRODUCTION

RN

DURABLE AND LOW-MAINTENANCE PANELS:

The panels are covered with a plastic coating
on the surface of waterproof plywood, and
after a small amount of mold release agent
is used, the surface of the panel basically
does not need to be cleaned after demolding.
This type of panel is quite durable and can
theoretically be reused more than 50 times.
The maintenance of the panel is relatively
simple, general scratches and holes can be
repaired quickly, and replacing the entire
panel is very convenient.

MAES 4P EiRRBHKREREEES
BrEFENE, RALERER, FRZ GRIR
REEATABE. SMERBEHAE, Btk
BJERAEA 50 R L, EIREVAEELLIRESR,
—ARBVRI A AMBCRER IR REEE, BRERER
FEHE,

SUITABILITY FOR NARROW INTERNAL
SPACES: Thinner panel thickness, more
suitable for structures with narrow internal
spaces.

EATHRERRTIE: SETNRREE, BiER
FRBP= B A BT,

p-37



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

HIGH LOAD CAPACITY: Customized section
steel frame, the system can bear a maximum
concrete side pressure: 60 kN/m?, can be
adapted to steel formwork, wood formwork
system, can be used for power plants and
other curved surface concrete structures.

BEHEN: EFREMWE, RATERHRKNRER
TMES : 60 kN/m?, BETNERE WK, A&
%, ARTBIFRINERRE LS,

ECONOMICAL AND ADAPTABLE COLUMN
FORMWORK: The GETO column formwork
series does not require tie rods, only a small
number of panel locking buckles are required
at the four corners to complete the assembly
reinforcement. It has high economy and
versatility, does not require more materials,
and can form columns of different sizes
through adjustment holes with a spacing

of 50mm. By adding caster accessories,

the column formwork can be pushed and
transferred on the floor, saving tower crane
time.

HESEFEMERY: SHERATITHIAL
B, AFEEAERALERRIN, BRI M
EHME. ERBRENEFENERYE, £F
BLHMKL, BidiE) BB 50mm BYETFLRL AT
MHARARRT R, EINMEEH, AITE #
R NIRRT, TRERNE,

P-38

PRODUCTS INTRODUCTION m

FETa

APPLICATION / =gz

APPLICATION IN SINGLE-SIDE WALL
FRAMEWORK

Aflexible and high-strength longitudinal
support system for single-side wall framework
that can be assembled as needed.

Maximum pouring height in one can reach 6
meters:

No need for tie bolts, the maximum concrete
pouring height in one can reach 6 meters.

Can be assembled into different height
combinations according to the height of
concrete pouring:

Can be combined into heights of 3.0M, 3.6M,
4.2M, 4.8M, 5.4M, and 6.0M based on the
pouring height of the concrete;

Flexible combination with formworks:
With the replacement of some connectors,
our GETO-64 heavy-duty formwork can be
used together with this support system, and
other types of formwork can also be used in
conjunction with it.

o

EREMIRZARREIRN A
RERRAENZRERMBRMEATIERR

—RERERKSERLE 6K :
TAHIiEE, — AR PRRELESANE6 XK,

IRERRLFEIRE, AIUAHRFRNSES
P
(=13

RIEERLHRESERUAEGHK 3.0M, 3.6M,
4.2M, 4.8M, 5.4M, 6.0M;

SERNREAS
QRE R, RATNENS 64 B
RIS AR RAR AR, HxnmnE
RE TS 2 A .

P-39



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY

FORMWORK SYSTEM
S - 64 ERRIRIF R

PRODUCT ADVANTAGES: When matched with GETO single-side wall framework series, it can
be assembled into different heights, suitable for single-side support wall with a maximum once

pouring height of 6m, without the need to install formwork tie rods.

Rl ERERENZERET,
AEHEARSE, EBTRA—RR
HEERA em NRMAREE, TFE

LRSI,

4200
3000
3600

P-40

4800
5400

Detailed drawing"A"
JHE A7

Vertical support

P
@ "MSBF-3600B"

@ "MSBF-L1800B"
3 "MSBF-T600"

6000

Detailed drawing"B"
#E B

‘ 1800 ‘

MSBF-E 1800

’fGOOj

MSBF-E600

Supporting reference beams
SERER

1650

200

[l
1900 r
600
625

2800

MSBF-T600B
MSBF-3600B
Vertical support frame
YR

® "MSBF-3600B" Vertical Support
® "MSBF-L1800B" Vertical Support
© "MSBF-T600B" Vertical Support

@ "SB-J300BA"Support Connection Bolt

WE “C” @ "SB-BP400A" Support Connection Panel and Bolt
3 "SB-BD550A" Support Connection Screw

@ "SB-B200A" Benchmark Beam Fixed Bolt

® "SB-F200BA" Formwork and Support Fixed Bolt
® "SB-F300BA" Formwork and Support Fixed Bolt
@ Main component of anchor bolt

® Anchor bolt screw

® Anchor bolt nut

Anchorage detailed drawing
THEFE

PRODUCTS INTRODUCTION

RN

Kg Model 4=
145 MSBF-3600BA
181 MSBF-L1800BA
16.7 MSBF-T600BA
37.6 MSBF-E1800
13.2 MSBF-E600
10.8 MBD-W90120A
3.0 GP40(15°)-1285
3.0 GP40(30°)-1285
3.0 GP40(45°)-1285
2.61 SB-F200BA
2.73 SB-F300BA
1.22 SB-J300BA
1.34 SB-B200A

7.76 SB-BP400A
2.25 SB-BD550A
9.89 AM36-660-BA
7.44 AM30-660-BA
4.64 AM24-660-BA
4.40 AM20-660-BA
6.50 M36+1000 S.bolt
4.50 M30%1000 S.bolt
2.98 M24x1000 S.bolt
2.00 M20+1000 S.bolt
0.95 AP36-1010
0.70 AP36-99

0.41 AP36-88

030 AP36-77

® "MSBF-3600B" a1
"MSBF-L1800B" #\[a12#%
©) "MSBF-T600B" a3 4%

@ @

©

"SB-J300BA" Z#IEE2I
"SB-BP400A" iR ANRE
"SB-BD550A" S IEFIEHT
"SB-B200A" B AR E E IR

5 "SB-F200BA" 1R1R5 12 E EiRiE
® "SB-F300BA" 11k 5 ¥ EE 1812
(@F::1-E5-1808

[OF::1F3 v

[OF::1F3°35

pP-41



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

o 750 (® M14*90 Hexagon bolt and nut

4k @ M12760 Bolt and nut

(3 M8*80*155 U-shaped bolt, nut, and plate
@ W3/8*60*120 U-shaped bolt and Wing nut
@3—Q

1445 D M14*90 A e g

@ M12*60 212 FE &

(3 M8*80*155 U BliZie, BFFER
@ W3/8*60*120 U BUi242 AR/ IR

(b)+2

MBD-W90120A
Corner operating platform bracket
BARETORRE

@ 2 )

Model 25 Main bolt F#84® Wing nut S8 Conenut #FH&  Pla
AMB36-650BA MB36-650 TN-36B CNB-3 WP
AM30-650BA MB30-650 TN-30B CNB-30 WP
AM24-650A MB24-650 TN-25 CNB-24 WP
AM20-650A MB20-650 TN-25 CNB-20 WP

Main parts of anchor bolt
Faie T AR

SB-F200BA SB-F300BA

™ "T15-SH200" Bolt @ "T15-SH200" #24¢

@ "T15-SH300" Bolt @ "T15-SH300" #3t&

3 "T15-DN1"Wing nut (3 "T15-DN1" iR

@ "WP6--99" 90*90*6.0TPlate @ "WP6--99" 90*90*6.0T ER
® "UP5-350" 5.0T Limit slot (® "UP5-350" 5.0T FRA1H

® "LP14-185"Fixed bolt with cotter pin ® "LP14-185" HHF OHMIEEE

Formwork and support fixed bolt
&R 5 2 EEE iR

400

I ® "M20+160"Hexagon bolt and nut
e T_ID., ) "ySBF-W3" 80*400*12.0T Steel panel

@ "M20+160" N R MIRG

== | =2 @:/2; @ "MSBF-W3" 80*400*12.0T Wik

o

SB-BP400A
Vertical support connecting panel and bolt

WZEERIRA R

P-42

/\ — 1000 —

1040 )
=
< Model S A Model 225
M36+1000
' P40(15°)-12 P
2.3 GPA 50) %5 1011000
ous [ GPA0(30°-1285 30 N24+1000
GP40(45°)-1285  45° M20+1000
Slanted guardrail column Anchor bolt screw
fRFHP A= S FHARIRAT
‘ 550
[ 110 il
d
@ ‘u;
@ "T25-B550" Bolt
e @ "TN-25" Wing nut
15-1414
12-1414 @ "T25-B550" 1842
10-1414 @ "TN-25" iz I8 R
10-1414
SB-BD550A
Vertical support connection bolt
YT
300
@)
=
RO

@ 0]
@ "T15-SH200"Bolt
@ "T15-DN1"Wing nut
® "WP8-1212" Plate

@ "T15-A300" Screw

@ "T15-DN1" Wing nut

3 "WP679N" Plate with nut
@ "WP6-99"Plate

@ "T15-SH200" 8214
@ "T15-DN1" 82423
® "WP8-1212" FEiR

@ "T15-A300" 424
@ "T15-DN1" $RZ 425
(3 "WP6TIN" HIREEIR

SB-B200A @ "WP6-99" E1R
Benchmark beam fixed bolt
D SB-J300BA
¥ 37 [ 2
HEREERE Vertical support connection bolt
P LIEEEIRIE

Model S A A

D @

{ﬁ AP36-1010  M36 100-8
AP30-99 M30 908
AP24-88 M24  80+6

Anchor bolt nut AP20-77 MO 706
HIEHEE

APPLICATION IN SINGLE-SIDE WALL
FRAMEWORK

A hanging bracket system with simple
and sturdy structure, easy installation and
disassembly.

The best product for concrete construction
of building exteriors:

Ideal for panel construction in projects like
dams, docks, etc., where tie bolts are not
required and concrete pouring heights are
high. This product ensures safe and efficient
construction.

Suitable for construction of sloped concrete
walls:

The angle of the formwork and working
platform can be freely adjusted, ensuring safe
and efficient construction of sloped concrete
structures;

Flexible combination with formworks:
With the replacement of some connectors,
our GETO-64 heavy-duty formwork can be
used together with this support system, and
other types of formwork can also be used in
conjunction with it.

PRODUCTS INTRODUCTION m

FETa

ERBIRIR | TEZRIELA
LB B E R FIRE S ERERAL

BHRIMERELEINRESR:

&K, AHSEIERET BT HgE, Bt
FERERR, A& UFRERSMmITRME
I

HMEpER T EEMET AN :
RIRMIRETFERAER LIBEBIAT, PREE
EERENERRIEMETIRE, MRIHETT;

S5RIRHREHLSE :

RUNER— TR, RAFRSS -64 ERE
REAUE A ERREESEA, HthERE
REFBAIUS ZEREER.

P-43



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

PRODUCT ADVANTAGES: The adjustable bracing of the formwork allows for easy adjustment of
the formwork tilt angle to accommodate inward or outward sloping walls.

ol BRFHETIAT, IRETRRIRMNAE, FIRANIEEAE. IMI,

2900

"SFC- 1500A" "SFC-2121BA"
Unilateral force system Single-side formwork hanging bracket system
BIENZS BIBERERARS

P-44

2850

4501 30

1255~
2855

"SFC-1521BA"

Single-side formwork hanging bracket system

PURIRERAS

() GETO-64 heavy-duty formwork

@ "BFP8"Joist , "BFP8-F3BA" Joist fixing bolt
(3 "$6040-215/315A"Main support component
@ "S4830- 120/145A"Auxiliary support component

(® "MS-TP2A"Upper support component

® "MBD-75120BA"Operation platform support system

@ "SW5-500"Operation platform

® "HT5/8-MB64"Formwork tie bolt : 2 pieces, "T20-DN2" Wing nut:
2 pieces, "T20-P1212"Rebar washer: 2 pieces, "T20-W1"Wedge lock: 2
pieces, "T15-E"Intermediate bolt

® "FCB-1515A" Hanger component

@ "SFP-W75300A" Platform frame component

() p48Steel pipe support

@ ¢p42Steel pipe guardrail

@ "CN-20" Cone nuts: 2 pieces, "MR-20" Hanger axle: 2 pieces,
"M20+90" Hexagon bolt: 2 pieces, "M20" Anchor bolt screw ,"AP20-
77" Anchor bolt nut

@ "CN-20" Cone nuts: 2 pieces, "WP3-$50/32" washer: 2 pieces,
"M20+40" Hexagon bolt: 2 pieces, "M20" Anchor bolt screw"AP20-77"
Anchor bolt nut

400
3000
24
150 — 300
1600
<.
_4
1555~ SO (D
2795 .
b . q
® ‘a4
N P d
f tD: e }
"FCB-1515BA"

Double-side formwork hanging bracket system
MAEARIEZR R 5t

PRODUCTS INTRODUCTION m

RN

DE4 -64 BRIUER

@2 "BFP8" /2 &, "BFP8-F3BA" L BEIFEIEE

(3 "S6040-215/315A" TR %

@ "S4830- 120/145A" 4HBh Sz 1244

® "MS-TP2A" k37 EELA

® "MBD-75120BA" i#EF &2 RS

@ "SW5-500" $&1EF&

® "HT5/8-MB64" ## 1k Xt hr 48 42 2 4, "T20-DN2" MEFZ B & : 2 4,
"T20-P1212" HteAR: 24, "T20-W1"#2ZR:8: 24, "T15-E" Fhialigsf
® "FCB-1515A" #424A 1%

@ "SFP-W75300A" F & 1EZR A

) 48 WEXIE

@ 42 WEFH

@ "CN-20" $EFZ2 R, 1 24, "MR-20" HZR#H: 24, "M20+90" /X
figie: 2, "M20" $HIRIBAT, "AP20-77" Hii2RER

@ "CN-20" $#EUM2F: 21, "WP3-050/32" #E: 21, "M20+40" X
g 2, "M20" $HARIBAT, "AP20-77" $HiehES

@ "VB14- 3000BA"Adjustable vertical support
2 "SB-F200BA Formwork and Support fixed bolt

(3 "SFC-2121BA" Hanging bracket component

@ "SFC-1521BA"Hanging bracket component

(® "SFC-SB1500" Vertical support benchmark beam

® "RB20--2700(M30) Anti-collaboration tie rods

@ "SFP-W75300A" Platform frame component

® "MBD-W90120A" Corner operation platform support component
® "SWS5 -500" Operating platform

1 Plywood platform component

() p48Steel pipe support

@ ¢42Steel pipe handrail

@ "CN-30" Cone nut, "MR-30B" Hanger axle, "M30* 125"Hexagon
bolt "M30-500"Anchor bolt screw, "AP30-99"Anchor bolt nut

@ "CN-30” Cone nut, "WP3-$50/32" Washer, "M30*65" Hexagon
bolt "M30*500"Anchor bolt screw, "AP30-99" Anchor bolt nut

@ "AM30-650BA" Main anchor bolt section, "M30*500" Anchor bolt
screw, "AP30-99” Anchor bolt nut

(@ "MSBF-E1800"Benchmark beam

@ "VB14- 3000BA" HAIARIMN 18

@ "SB-F200BA 181k 5 L2 EE #i2

(3 "SFC-2121BA" #2240

@ "SFC-1521BA" H224A 1

(® "SFC-SB1500" thZ 2 EER

® "RB20--2700(M30) BA{REHIFT

@ "SFP-W75300A" S &1EZ A

® "MBD-W90120A" # iR {FF & IRA M

® "SW5-500" 21EF &

AR &A1

) p48 WEZE

@ p42 MEFH=

@ "CN-30" $#FZ42 8. "MR-30B" #4240 4. "M30* 125" /N A 218,
"M30-500" it 424, "AP30-99" it

@ "CN-30" S4B . "WP3-¢50/327 HE. "M30%65" 7R ie.
"M30*500" $#it24EFF. "AP30-99" HHitehk

@ "AM30-650BA" E#it2#04). "M30*500" Ht2IEFF. "AP30-99” fHite
2353

@ "MSBF-E1800" £ &R

p-45



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

4 - 64 ERRIRIFR

Safety pins with cotter
HFHONZ2E

Detailed drawing"A"
FE A7

Detailed drawing"B"
HE B

P-46

Formwork height adjuster
RIREE TS

Detailed drawing"C"
FE T

Formwork height adjuster
EiREEETE

Safety pins with cotter
HAONRZ2E

Formwork compression pins

BiRE R

Hexagon bolts and nuts

AEREEG

\ 1515 \ 2@
P —

SFC-SB 1500

Vertical support benchmark beam
YEEER

1500 ‘

FCB-1515A

® "FCB-B1515"Hanger main frame

® "FCB-PA450" Formwork height
adjustment bolts

© "FCB-FB300"Adjusting bolts for the
top support

© "GP40- 1200B" Guardrail column

® "PN25-165" Fixed bolt with cotter pin
® "M16*130L" Hexagon bolts and nuts
© "M12*70L" Hexagon bolts and nuts
® "M10*150*190" U-shaped bolt, nuts,
and plate

@ "W3/8*60*110" U-shaped bolt and
Wing nut

® "FCB-B1515" 2R F1ELE

® "FCB-PA450" 1£iR = T8¢

© "FCB-FB300" % THiETi#24¢

© "GP40- 1200B" #4130 tE

® "PN25-165" #H A O EME EIE

® "M16*130L" A figie MR E

© "M12*70L" AR HIRE

® "M10*150*190" U BliRie, FEARFIRE
D "W3/8*60*110" U BUi2te M A/ 02 £

Double-side formwork hanging bracket
XM AR ISR

2100 ‘ 1500 ‘

1

50

21

SFC-2121BA SFC- 1521BA
@ “SFC-B2100B” Hanger benchmark frame “SFC-B2100B” #HZREEHESS

=)
@

@ “SFC-B1500B” Hanger benchmark frame @ “SFC-B1500B” #EZRELAAEZR
(3 “SFC-V2100” Hanger vert (@ “SFC-V2100” $EZR4AFEINESS
ical frame @ “SFC-D2100B” Hanger diagonal brace @ “SFC-D2100B” #EZefg

® “SFC--T600” Vertical support movable base ® “SFC--T600” 4z &R

® “SFC-C150” Vertical support base ® “SFC-C150" MNZIEEE

@ “GP40-1200B” Guardrail column @ “GP40-1200B” #P4=1rt

® “PN30-165” Fixed bolt with cotter pin ® “PN30-165” HFFMAHNEER
® “PN25-165” Fixed bolt with cotter pin © “PN25-165" HHFAHNEER

)

@ “PN25-210" Fixed bolt with cotter pin
@ “M20*70L” Hexagon bolts and nuts
@ “M12*70L” Hexagon bolts and nuts
@ “W3/8*60*110” U-bolts and wing nuts

=

“PN25-210" #HFHOHMEER
“M20*70L" NFIRiE IR
“M12*70L" NAgeTRE
“W3/8*60*110” U BN/ 2

®

Single-side formwork hanging bracket

PR ESR

@ "SFP-H3000" Platform hanging column
@ "SFP-WB750" Platform benchmark frame
3 "GP40-1200B" Guardrail column

@ "M16*130L" Hexagon bolts and nuts

® "M16*60L" Hexagon bolts and nuts

® "M12*70L"Bolts and nuts

@ "W3/8*60*110" U-bolts and wing nuts

® "M8*80*155"U-bolts, plate, nut

M "SFP-H3000" & HH

@ "SFP-WB750" F A E HHELE

(3 "GP40-1200B" $P#237E

@ "M16*130L" N fZie IR &

® "M16*60L" /AR MIRT

® "M12*70L" $2ie FIR G

@ "W3/8*60*110" U B2 FIMEAZ IR
® "M8*80*155" U BliRie, [EiRk, 123

SFP-W75300A
Platform framework components
FAtEZRAMN

Kg

256
194
80.3

153
173

443
36.4

106
87.0
50.1
28.0
62.6
20.3

66.0
5.02
2.14

113
133
35.8
2.12

23.8
1.74

2.80

1.00
0.71
0.88

0.30
0.08
0.23
0.14

0.14

0.53
018

PRODUCTS INTRODUCTION m

FETa

Model &=

SFC-2121BA
SFC-1521BA
FCB-1515BA

VB14-3000BA
VB14-3600BA

SFC-SB1500
SFP-W75300A

SFC-B2100B
SFC-B1500B
SFC-V2100
SFC-D2100B
SFC-T600
SFC-C150

FCB-1515
FCB-PA450
FCB-FB300

VB14-F3000B
VB14-F3600B
CP10-2500
VB14-A180B

SFP-H3000
SFP-WB750

GP40-1200B

PN30-165
PN25-165
PN25-210

Hex. bolt & nut
M20+70L
M12+70L
M16+130L
M16+60L

U-bolt & wing nut
W3/8+60+110

U-bolt, plate & nut
M10+150%190
M8-80+155

p-47



PRODUCTS INTRODUCTION

P

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

@ "VB14-F3000B" Vertical support framework
@ "VB14-F3600B" Vertical support framework
(3 "CP10-2500" Adjustable support rod

@ "VB14-A180B" Formwork height adjuster
® "PN30-165" Fixed bolt with cotter pin

® "PN25-165" Fixed bolt with cotter pin

@ "M16*60L" Hexagon bolts and nuts

(D "VB14-F3000B" 43z 31ELE

@ "VB14-F3600B" 4}z 1#HES2

(3 "CP10-2500" AIASZ 4T

® "VB14-A180B" #EiREE T2}
® "PN30-165" S M EE
® "PN25-165" S A EE
@ "M16*60L" 7\l RIS IR

VB14-3000BA
Vertical support components

Y\SZIgEH
OPERATING PLATFORM BRACKET:
Main body: baked paint
Screw, bolts: galvanized
BEFaRE:
FR: ER
2211, 12t EBIESE
— 75 ——
- a
Model &5 A
a3 —(
GP40(15°)-1285  15°
1445
GP40(30°)-1285  30°
GP40(45°)-1285  45° q
% =
©2 D)
Slanted guardrail column MBD-W90120A
{RRHP = AE Corner operating platform bracket
HAIRET AL

P-48

3700

2350~
1950

VB14-3600BA

(1 M14*90 Hexagon bolt and nut
(2 M12*60 Bolt and nut

(3 M8*80*155 U-shaped bolt, nut, and plate
@ W3/8*60*120 U-shaped bolt and wing nut

D M14*90 N AR TR

@ M12*60 121 F14E 5

(3 M8*80*155 U Bligte, BBFIER
@ W3/8*60*120 U BUERIe AL IR

ANTI-COLLAPSIBLE TIE RODS:

® "M20*60" IR TIIRE

FORMWORK AND SUPPORT FIXED BOLT:

Finished produ

BIREXZIZEE
Fiin: REETE

’7215“

®

SB-F200BA

@ "T15-SH200" Bolt
@ "T15-SH300" Bolt
® "T15-DN1"Wing nut
@ "WP6--99" 90*90*6.

® "UP5-350" 5.0T Limit slot

® "LP14-185"Fixed bo

ct: surface galvanized

1242

SB-F300BA

® "T15-SH200" #2#%
@ "T15-SH300" #8212
(3 "T15-DN1" #fzi2 &
0TPlate @ "WP6--99" 90*90*6.0T [E4R
(® "UP5-350" 5.0T FRAi#E
® "LP14-185" A OEMIEEL

It with cotter pin

Formwork and support fixed bolt

BIRSZEETERE
CONSUMABLE PARTS OF ANCHOR BOLTS:
. 2
SHENRIS I FEERM e
M36+1000
‘ 1000 ‘ M30+1000
M24+1000
M20+1000
Anchor nut
SIEHER

Surface: galvanized
Fh R HIAT
. ERFEST
RME: BEHF
| . \
‘ L2 | 1200 l
F‘% = =} ‘ =
) ® "‘23 m ® {L‘

@ "RB20-T500" Tie rod adjustment hoop Model #2 L1 12
@ "RB20-R1300, R1600, R1800,R2200, R2800"

Right-handed screw RB20-2700(M36) ~ 2900~2500 1300
@ 'RB20-L1200" Left-handed screw RB20-3200(M36)  3400~3000 1800
@ "RB20-HB36, HB30, H24,H20"Hook bolt RB20-2700(M30) 2900~ 2500 1300
® "M20760"Hexagon bolts and nuts RB20-3200(M30)  3400~3000 1800

) RB20-3000(M24)  3200~2800 1600

@ "RB20-T500" HIFFIE T4 RB20-3600(M24)  3800~3400 2200

@ "RB20-R1300, R1600, R1800,R2200, R2800" %5 RB20-4200(M24)  4400~4000 2800
HEEAT RB20-3000(M20) ~ 3200~2800 1600

® "RB20-L1200" ZHESRAF RB20-3600(M20)  3800~3400 2200

@ "RB20-HB36, HB30, H24,H20" #3512 RB20-4200(M20)  4400~4000 2800

©

Anchor bolt
FHIRIRAT

PRODUCTS INTRODUCTION

FEaRNR m

Kg

10.8
3.0
3.0
3.0

10.4
114
10.2
11.2
10.2
11.4
12.6
10.1
11.3
12.5

2.61
2.78

0.95
0.70
0.41
0.30

6.50
4.50
2.98
2.00

Model BS

AP36-1010
AP30-99
AP24-88
AP20-77

Model &=

MBD-W90120A

GP40(15°)-1285
GP40(30°)-1285
GP40(45°)-1285

RB20-2700(M36)
RB20-3200(M36)
RB20-2700(M30)
RB20-3200(M30)
RB20-3000(M24)
RB20-3600(M24)
RB20-4200(M24)
RB20-3000(M20)
RB20-3600(M20)
RB20-4200(M20)

SB-F200BA
SB-F300BA

AP36-1010
AP36-99
AP36-88
AP36-77

Stud bolt M36-1000
Stud bolt M30-1000
Stud bolt M24-1000
Stud bolt M20-1000

@ Nut#28 @ Plate E1R
M36 1008
M30 90+8
M4 806
M20 70+6

P-49



PRODUCTS INTRODUCTION

2r oy
PR

GETO-64 HEAVY-DUTY
FORMWORK SYSTEM

S - 64 ERRIRIF R

TURNOVER PARTS OF ANCHOR BOLTS:
Surface: galvanized

SHENRIE R AP
RME:. BEH

L
Model #S Thread®& L D A Model #S D1 D2 D3
CN-36 M36 140 094 55 MR-36B @99 @75 @37
CN-30 M30 135 Q94 46 MR-30B @99 ©75 @31
CN-24 M24 80 @65 36 MR-24 Q70 062 025
CN-20 M20 70 059 30 MR-20 Q70 o662 @21
"CN"Cone nut "MR" hanger axle"MR”
N RS sz
. 60
s 3 D1
> j (1
Model B S [2237g L S
A=
M36+130 W36 1% 6 oat s g
M36+70 M36 70 70 WP3-050/38 @38
M30125 M30 125 60 WP3-@50/32 @32
M30+65 M30 65 65 WP3-050/26 @26
M24+95 M24 95 40 WP3-050/22 @22
M24+50 M24 50 50
M20+90 M20 0 3
M20+40 M20 0 42 Washer

Hexagon bolt
Pav:ik: e

P-50

#E

Kg

1.37
0.89
0.95
0.62
0.44
0.28
0.28
0.16

0.02
0.03
0.04
0.04

2.46
2.24
0.70
0.52

2.15
2.28
1.08
1.14

Model # &

Bolt M36+130
Bolt M36+70
Bolt M30+125
Bolt M30+65
Bolt M24+95
Bolt M24+50
Bolt M20+90
Bolt M20+40

WP3-050/38
WP3-050/32
WP3-050/26
WP3-050/22

CN-36
CN-30
CN-24
CN-20

MR-36B
MR-30B
MR-24
MR-20

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM
S -64 BRIERIFR
FORMWORK SYSTEM / &tk {& %

GETO-64 LIGHTWEIGHT
VERTICAL PANEL

T4 -64 BRIZFIRIR

PRODUCTS INTRODUCTION

7 O A
rondl

7
A

Dimension #I4& W x H

PMP6-600X2400
PMP6-500X2400
PMP6-450X2400
PMP6-400X2400
PMP6-350X2400
PMP6-300X2400
PMP6-250X2400
PMP6-200X2400
PMP6-150X2400

PMP6-600X1200
PMP6-500X1200
PMP6-450X1200
PMP6-400X1200
PMP6-350X1200
PMP6-300X1200
PMP6-250X1200
PMP6-200X1200
PMP6-150X1200

PMP6-600X600
PMP6-500X600
PMP6-450X600
PMP6-400X600
PMP6-350X600
PMP6-300X600
PMP6-250X600
PMP6-200X600
PMP6-150X600

pP-51



PRODUCTS INTRODUCTION

P

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

GETO-64 LIGHTWEIGHT
INTERNAL CORNER PANEL

T -64 REFAMIRIR

Dimension #1#& (A+B) x H

SIC6-(200+200)X600
SIC6-(200+150)X600
SIC6-(200+100)X600
SIC6-(150+150)X600
SIC6-(150+100)X600

SIC6-(200+200)X1200
SIC6-(200+150)X1200
SIC6-(200+100)X1200
SIC6-(150+150)X1200
SIC6-(150+100)X1200

GETO-64 LIGHTWEIGHT
WALL END PANEL

T -64 BEUSIHIRIR

p-52

Dimension & WxH

WEP5-200X1800
WEP5-200X1200
WEP5-200X900

When configuring wall end formwork

using more than two panels, prioritize the
standard specifications. Any remaining wall
end formwork are customized based on the
structural drawings.

SEIRIRIRACIRAY RATIRL L, SR ERE
Mg, FRIERRIRARIBEIE LS.

GETO-64 LIGHTWEIGHT

BEAM BOTTOM
SUPPORTING PANEL

TiF -64 BRRRZIERIR

Beam Width

FETa

PRODUCTS INTRODUCTION m

Dimension $1&
Beam Width 2% x 200

BBP6S-200X200
BBP6S-250X200
BBP6S-300X200

Three sets of beam bottom support
formwork are required, and their spacing
should be less than 1200mm.

REZEERFRE=E, BEEMLNTF
1200mm,

GETO-64 LIGHTWEIGHT

BEAM BOTTOM PANEL

T -64 BRIRRIER

Beam 1

width H %

Dimension }1&
Beam Width 2% x L

The beam bottom formwork is categorized
into the following types based on the
connecting parts at both ends:

(1)Both ends connected to "BBP6S" are
referred to as "BBP6CC".

(2) One end connected to wall formwork
and the other to "BBP6S" is referred to as
"BBP6CW".

(3) One end connected to wall end
formwork and the other to "BBP6S" is
referred to as "BBP6CE".

(4) One end connected to beam bottom

formwork and the other to "BBP6S" is
referred to as "BBP6CB".

RERARIRARIB R IR E U 5 R 5 L%
(1) MMERE “BBP6S” B9 “BBP6CC” o

(2) —IRERSEIRIR—IRERE “BBP6S” MM
“BBP6CW” o

(3) —ImERSE IR —IR&ERE “BBP6S” KY
7 “BBP6CE” o

(4) —ERYERERESER—RERE “BBP6S” B
7 “BBP6CB” o

P-53



PRODUCTS INTRODUCTION

P

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

GETO-64 LIGHTWEIGHT
DECK PANEL

T -64 BEITRIRIR

The deck panels installed between
early-removal beams.

LR RIFRRZ B TRAER

PFP6

Dimension % W x H

PFP6-600X1200

PFP6-300X1200
PFP6-600X900
PFP6-300X900

GETO-64 LIGHTWEIGHT
DECK PANEL

T -64 BETTRIRIR

The deck panels installed between
early-removal beams.

R PIRRZ BB TR IR,

SRR

PFP6E

Dimension & W x H

PFP6E-600X1200
PFP6E-300X1200
PFP6E-600X900
PFP6E-300X900

GETO-64 LIGHTWEIGHT
DECK INTERNAL CORNER
PANEL

T4 -64 BETRPA MR

P-54

Dimension #4& L

DSL200-R(L)1250¢
DSL200-R(L)950¢
DSL200-R(L)650c¢
DSL200-R(L)350¢

DSL200-R(L)1350e

DSL200-R(L)1050e
DSL200-R(L)750e

GETO-64 LIGHTWEIGHT
EARLY REMOVAL BEAM

T -64 BEIFRR

PRODUCTS INTRODUCTION m

RN

Dimension #1#& L

DB101-1800

DB101-1500

DB101-1200
DB101-900
DB101-600
DB101-500
DB101-400

GETO-64 LIGHTWEIGHT
INTERNAL CORNER PANEL

45 -64 BEETARPA A 18ER

Dimension #1#& L

SL200-1000c¢
SL200-700c
SL200-400c

SL200-R(L)1100e

SL200-R(L)800e
SL200-R(L)700e
SL200-R(L)500e
SL200-R(L)400e

GETO-64
LIGHTWEIGHT EARLY
REMOVAL SUPPORT

i -64 REIFIR%E

DHS-2220/3200A

Adjustment Range AT EE

2200mm~3200mm

This product is an independent early
removal support. When the story height
exceeds the independent stability range, a
horizontal tie rod can be set up.
Depending on the structural design of the
support spacing, the maximum can be
1200x1800mm.

AP RNIRI RIFRE, BEBHRIRESDS
ElRY, rHgE#EENT.

RIBESMIRIT LA, KRN
1200x1800mm,

P-55



PRODUCTS INTRODUCTION

P

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

GETO-64 LIGHTWEIGHT
AUXILIARY SUPPORT

T -64 BRIMEN%IE

Adjustment Range AT EE

1900mm~2880mm

This product is an independent support.
When the story height exceeds the
independent stability range, a horizontal tie
rod can be set up.

Set up according to the formwork
arrangement plan.

FFERARIITIE, REBHIRIRETCEN,
AR EEEIAT.
HIRRR S = TIRE.

GETO-64 LIGHTWEIGHT
BEAM BOTTOM
SUPPORTING FORMWORK

i -64 BRI RRZIFRIR

FHSB-1900/2880A

GETO-64 LIGHTWEIGHT
BEAM BOTTOM SUPPORT

T -64 BRREZIE

Adjustment Range JAT5EE

1900mm~2880mm

This product is an independent support.
When the story height exceeds the
independent stability range, a horizontal tie
rod can be set up.

The maximum spacing for beam bottom
supports is 1200mm.

FFERAIRIIZE, RSB HIRIIRETEN,
Pl E BRI,
RIEZIZEERAN 1200mm

P-56

. =X

Dimension ##& L

LOC6-2400B
o LOC6-1200B
LOC6-600B

b

BS-1900/2880A

GETO-64 Lightweight
Wall End & Beam Bottom
Locking Clamp

ST -64 BEUENR & REDHN

Used for connecting wall end panel and
beam bottom panel

AT EREIRIEIR R R R

Wall End Locking Connection Diagram
Bin iR EE

i

TOP DIAGONAL BRACING

T8

=z O A7
A

PRODUCTS INTRODUCTION m

GETO-64
LIGHTWEIGHT
STANDARD LOCKING
CLAMP

T -64 BEMREDIHN

Used for connecting one panel to another.

BT RIRSRIRAER

GETO-64
LIGHTWEIGHT
ADJUSTABLE LOCKING
CLAMP

EiF -64 BEIENASHN

Used for connecting one panel formwork
to another with an adjustable range of 50-
90mm.

BFRR SR EE BRI,
JATSEER: 50-90mm

p-57



PRODUCTS INTRODUCTION

P a

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

STANDARD TIE BOLT
L SOEATE S
Formwork
&R
Wall Thickness - 2
BE -2
Sleeve-type Tie Bolt
EExhRe
Formwork
&R
Wall Thickness -2
B2 -2
Three-piece Tie Bolt
=R NThagie
P-58

Illustration:

1-T-shaped Screw
2-Nut

3-Pad

4-PVC Sleeve

5 - Sleeve Cap

PR

1-T BUEF
2- TRIEF
3- B8R
4-EE
5-

EEHE

Illustration:

1-T-shaped Screw
2-Nut

3-Pad

4 - Conical Nut

5 - Middle Section

BiEA:

1-T BUEFF
2- TEIEE
3- 1R

4- SRR
5 - FRalE

TIE BOLT WITH STEEL PIPE
WALER

INNE E BRI

Formwork
1BEAR
Wall Thickness -2
= -2
Sleeve-type Tie Bolt
BB
Formwork
AR

Wall Thickness -2
= -2

Three-piece Tie Bolt
=B Uahrigte

PRODUCTS INTRODUCTION

N
@R

Illustration:

1-T-shaped Screw
2-Nut

3-Pad

4-PVC Sleeve

5 - Sleeve Cap

6 - $48 Steel Pipe

ieR:

1-T BUEH
2- TREF
3- AR
4-PVCEE
5- EE R
6 - P48 NE

Illustration:

1-T-shaped Screw
2-Nut

3-Pad

4 - Conical Nut

5 - Middle Section
6 - $48 Steel Pipe

WiEA:

1-T BUEFF
2- TRIEF
3- LAY
4- SBARE
5- FRiEEk

6- P48 NE

P-59



PRODUCTS INTRODUCTION PRODUCTS INTRODUCTION m

P a @A

GETO-64 LIGHTWEIGHT EXTERNAL WALL
FORMWORK SYETEM FORMWORK

Eﬁ -64 Eﬁ#ﬁﬂiﬁ&% Door and window openings

can be formed in one pour

PRODUCT ADVANTAGES /| =mft% V] SMEIEIR
° ° ERA— R E
HIGH EFFICIENCY HIGH QUALITY LOW COST
Simple assembly tasks, Precise formwork design Special panel can be
achieving an area of over and production, reduce reused over 50 times, steel
40 mi per person per day worker error and enhance frame usable for more
construction quality than 5 years, resulting in STAIRCASE FORMWORK
ENE low amortization costs Integral assembly,
25 88 S T 1, =me one time forming
ABEX 40 M E FERRV SRR I R, P& {EER%Zs
EIAKR, EETIEAE B TEIRA R 50 RLLE IR
SAEREA 5 Lt BIAHE—RAE
* PRSP A1
® sareTy
Systematic design
ensures stability and /
reliability ENVIRONMENTALLY ® DECK FORMWORK
FRIENDLY Independent early removal
S Reduces wood support system
AR EE consumption and
construction waste ToRAER
M RIRAZE
ZRE
FEARARMIEFE. Bk
/ DECK FORMWORK

Lightweight design

PRIEIER

TEiRit

P-60 P-61



PRODUCTS INTRODUCTION

P a

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

CONSTRUCTION WORKFLOW / i3tz

01

Accurately layout lines based on construction drawings and bind the
wall and column reinforcement bars. During the binding of wall and
column rebars, position the positioning bars accurately by welding.

RIETE TEUEMRKNS, HILISHWE. SILBTENERIEN N ERIEE

FORMWORK E Lo

INSTALLATION

®E
Start installing from the internal corner panel according to the formwork
arrangement drawing. The panels are connected using standard locking
clamps; simple installation can be done with one hammer.
IRIEECRERAMBARIRF ARE. BRFBRESHNHITER, —Bk

FORMWORK ENFTE R RE,

INSTALLATION
RE

pP-62

Insert tie bolts row by row while installing the opposite panels.

RENERRVEL, FHHEANHEE,

FORMWORK
INSTALLATION

RE

PRODUCTS INTRODUCTION

FORMWORK
INSTALLATION

RE

Connect the wall end panel using wall end locking
clamps.

= IR IR AR AR S i B A TS

pP-63



PRODUCTS INTRODUCTION

P a

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

After installing the panels below 2.4 meters, proceed to install the upper
part of the panels.
TR 2.4 KUTEMRGE, FIaRE EEIHREIR.

PRODUCTS INTRODUCTION m

FENaE

During the installation of the deck panel, first install the side SL panel,
then install the early removal beam and early removal support, and
install the deck panel row by row.

RIS RAEET, NEREMI SLIER, BRERFRNEHRZE, HiEZE
FORMWORK HER R TARIEAR
INSTALLATION

RE

FORMWORK

INSTALLATION

BE
When installing the beam panel, first install the beam bottom panel and
adjust the height, then install the beam side panel. When installing the
upper panel on the external wall, accurately install the embedded bolts
to ensure accurate construction of the upper kicker.

FORMWORK RIERMZEN A RERKER, HAESE, BRERMRR, IME EEE

INSTALLATION TR RS N A R TR IRE, (RIE LR K g,

RE

P-64

The early removal strip can be filled with a deck panel dedicated plastic
strip or wood plywood.

RIFHMATRE B TEHFRARERIETEIF,

FORMWORK
INSTALLATION

RE

pP-65



PRODUCTS INTRODUCTION

P a

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

FORMWORK
INSTALLATION

RE

For the staircase panels, first install the wall panels around the
stairwell and the bottom panels of the staircase. After completing the

reinforcement work of the staircase bottom panels, seal the step panels.

REBEARAR N ST SRR AR BB (IR AR S AR B FRARAR AR, RSB IRAR AR (R AL 52
Aifa, BRI RIRE L.

FORMWORK
INSTALLATION

RE

P-66

During the binding of deck panel rebars and the embedded work of
various specialties, reinforce the panels and mark it for turnover use in
the upper layer. Install vertical back ribs at 3M intervals on the exterior
wall to ensure the straightness of the external wall.

ARFLTTAR AR K & T AL FEHAIE), IIEMRIRH ST AR LUE LR AR R,
IMELA 3M [BIEE R X ERETE, RIEIMEINELE,

FORMWORK
INSTALLATION

RE

PRODUCTS INTRODUCTION m

FENaE

After the formwork installation is completed and passes the overall
acceptance, start pouring the concrete. During pouring, there must be

a dedicated person to watch over the formwork to prevent loosening

or falling off of formwork components, which could lead to formwork
settlement or bulging. If any issues are found, stop pouring immediately
and make timely corrections.

RIRLETTA, HFEFEEEEEFINRFRERL, RRNLIEETAER
RIR, BRARIRECHALEHEEZRS ERIR TSR ENSR, KIS IR
FIER AT MBIRIE,

FORMWORK
REMOVAL

1R

Commence formwork removal upon receiving approval from the site
technical department and the supervising engineer. After dismantling
the walers, locking clamps, and tie rods, proceed with the removal of the
vertical wall panels. Clean and neatly stack the dismantled formwork
panels.

FEMIEABREEFRBEFIRFR. FFEEE. Sl B e FitE
FHRIFFR S MIE A IER. FTRRIRBETS, BRET.

p-67



i) PRODUCTS INTRODUCTION
PN

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

When removing beam panels, start from the beam bottom panels,
ensuring not to shift or remove the beam bottom supporting panels.
Retain the bottom support for at least three levels. In winter construction
conditions, appropriately extend the retention period.

MOVAL PRSI MREIRITS, BRE5E. FRRRSIER, RESY
NERE=F. LTI, R&HIGINREEE,

/iy ]
After the concrete strength meets the requirements, remove the
horizontal panels last. Strictly prohibit early formwork removal.
KFEIRFRRLBERIERE, REIFRF. MERIFE,

FORMWORK

REMOVAL

iR

P-68

PRODUCTS INTRODUCTION

RN

Once the concrete strength reaches over 50%, begin dismantling the
early removal deck panels. First, individually push the sliding pins of the
early removal supports to lower the panels and early removal beams by
approximately 200mm, then proceed to remove the panels and early
removal beams one by one.

FORMWORK
REMOVAL SRR SREAE] 50% LA LB FHGIRIR RIRTURIER, STZE BB RIRIER
I8 ohEEiR, WIRRFFRETE 200MM £, BRI TFERKREFR.

Installation Status ZIEIRE Lowered Status FSZRA

* Except for the early removal supports, all
other formworks and accessories can be
removed, while the early removal supports
must be retained for at least three levels. In
winter construction, the retention period
should be appropriately increased.

*PBREAIRIB LN B RIR R ECHHER AT iR ER, F
HFEFRE=E.
LIRS, WiEYIEINRERE,

P-69



PRODUCTS INTRODUCTION
02 ERAE
=l=M =

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

FLEXIBLE APPLICATION:

1- Flexible connection and application can significantly reduce costs.

2 - By increasing the reuse rate of formwork, the amortized cost is further reduced.

3- The system adapts to varied engineering changes. Standard products can be utilized from
non-standard levels.

RiBZHA:

1- RIEWEEZENEA, ARAUERMRE,

2- REERBAAE, HHEMEER,

3- BRZTAHIRE, WEFRINIEREFBER,

P-70

FORMWORK TURNOVER:

1- Transport the formwork to the upper

level via the material hoist, and reinstall

the formwork according to the pre-marked
positions.

2 - When reinstalling, ensure that the
formwork has been cleaned, with particular
attention to the panels.

3 - For exterior walls, use a tower crane to lift
them as a whole, and accurately fix the Kicker
into the predetermined embedded positions.

A%

1- BEEROKEREEE LR, HIRIBESLR
IBEMREER,

2 - EFRENNRIAMERESEET S, 32
ERo

3 - JMERIFI S BEMAIR, HiE K IRERERE
EFEE L,

PRODUCTS INTRODUCTION

p-71



TYPICAL PROJECTS
= ES)




PRODUCTS INTRODUCTION

@Na T\’P\CALPF%JQ%E m
GETO-64 HEAVY-DUTY PURIFICATION PLANT / &t ETiE o
FORMWORK SYETEM
SFF 64 EREIRIE R

HOUSINGS & BUILDINGS / EEfER ©




PRODUCTS INTRODUCTION

P a

GETO-64 HEAVY-DUTY
FORMWORK SYETEM

S 64 ERURIRIER

POWER PLANT INDUSTRIAL BUILDINGS / ] TJt" B

P-76

INDUSTRIAL PLANTS / Tk 5

TYPICAL PROJECTS
e )

O



03 PRODUCTS INTRODUCTION TYPICAL PROJECTS 03
FRNA TEZfA

GETO-64 HEAVY-DUTY RAILWAYS & TUNNELS / 8E&fnpxis o

FORMWORK SYETEM
— . .

DAMS & DOCKS / A3 & i3k ©

P-78

P-79



PRODUCTS INTRODUCTION

P a

GETO-64 HEAVY-DUTY
FORMWORK SYETEM

S 64 ERURIRIER

CANALS & PORTS / izAIfl#O

P-80

PIPE GALLERY TROLLEY /| EB &%

TYPICAL PROJECTS
e )

O



PRODUCTS INTRODUCTION
P a

GETO-64 HEAVY-DUTY
FORMWORK SYETEM

S 64 ERURIRIER

TRANSPORTATION HUBS AND SUBWAYS / 3Zi@ R4l fl3thEk

P-82

PRODUCTS INTRODUCTION
FENTa

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

INTEGRATED HOUSING BUILDINGS / i\ E




TYPICAL PROJECTS m
pSES]

GETO-64 LIGHTWEIGHT
FORMWORK SYETEM

S -64 BRIERIFR

INTEGRATED HOUSING BUILDINGS / x5 ©

P-84



GETO Group

Headquarters:
Greater Bay Area—No. 13 Heqging Road, Tsuihang New District, Zhongshan City, Guangdong Province

Southern China Production Base | :
Cuishan Lake Science and Technology Park, Kaiping, Jiangmen City ,Guangdong Province

Southern China Production Base Il :
Huizhou Industrial Transfer Industrial Park, Huizhou City, Guangdong Province

Eastern China Production Base 1| :
Guangchang Industrial Park, Fuzhou City, Jiangxi Province

Central China Production Base:
Hi-tech Industry Development Zone, Xianning City, Hubei Province

Northern China Production Base:
China Aluminium Industrial Park, Linqu, Weifang City, Shandong Province

Southwest China Production Base:
Modern Manufacturing Industrial Park, Tongnan High-Tech District, Chongging City

Northwest China Production Base:
The Circular Economy Park, Anding District, Dingxi City, Gansu Province

Hainan Production Base:
Gold Medal Port Industrial Park, Lingao County, Hainan Province

ASEAN Production Base:

Negeri Sembilan, Malaysia

Singapore Production Base :
West Region, Singapore

Saudi Arabia Production Base:
Riyadh, Saudi Arabia

Contact [

Sales Hotline: 0086-760-88589004
E-mail: geto_market@geto.com.cn
Website: www.getoformwork.com

20250415V1 |_



